e

ITEMS IN RED NOT SUPPLIED BY HENDRIX

ITEM DESCRIPTION

DESIGN PARAMETERS

1 | DEAD END BRACKET, HENDRIX TYPE BD-35 2

2 | HENDRIX AERIAL CABLE (SIZE AND VOLTAGE RATING AS REQ.) asreq] 15kV DEAD-END

3 | MESSENGER, (SIZE AND TYPE AS REQ.) AS REQ

4 | PRESHAPED CONDUCTOR GRIP, COATED 6

5 | PRESHAPED MESSENGER GRIP 2

6 | INSULATOR, PIN TYPE, HENDRIX TYPE HPI-15VTP 3

7 | SHACKLE CLEVIS, HENDRIX CATALOG NO. SC 6 | TITLE

8 | POLE EYE PLATE 2

5 | MACHINE BOLT, 5/8" X REQ, LENGTH s | STACKED DEAD-END CONSTRUCTION USING
10 | SQUARE WASHER 2-1/4" X 2-1/4" X 3/16" (MIN) 12 |BD-35 WITH UNDERGROUND RISERS

11 | HEAVY-DUTY THIMBLE CLEVIS, HENDRIX CATALOG NO. HDTC 2

12 | STANDARD-DUTY THIMBLE CLEVIS, HENDRIX CATALOG NO. TC 6

13 | GROUND WIRE, SOFT DRAWN COPPER, SOLID #6 AWG MIN. AS REQ.

14 | GROUND WIRE STAPLE AS REQ.

15 | CONNECTORS, (SIZE AND TYPE AS REQ.) AS REQ.

16 | FUSED CUTOUTS 6

17 | OUTDOOR TERMINATION KIT, SIZE AS REQ. 6

18 | UNDERGROUND RISER CABLE AS REQ

19 | CONDUIT AS REQ

20 | SURGE ARRESTER, SIZE AS REQ. 6 | DRAWING NO. REV

21 | COVERED TAP WIRE As REQ.|AC2027-01 0 SPACER CABLE SYSTEMS
22 | HUGHES BROS. CF910-4 EQUIPMENT MOUNTING BRACKET 2

23 | EYEBOLT, 3/4" X REQ LENGTH 2

24 | GUY STRAIN, FIBERGLASS > | PATE

25 | MACHINE BOLT, 3/4" X REQ LENGTH 4 |5/29/13

26 |INSULATOR PIN, HENDRIX TYPE SSP-2 2

27 |INSULATOR BRACKET, HENDRIX TYPE BP-1 2

28 | INSULATOR PIN, FEDDER TYPE 1

29 |2-HOLE COMPRESSION LUG, SIZE AS REQ. 3 H E N D R l X
30 | DEAD-END INSULATOR, POLYMER, 15KV 6

MARMON UTILITY LLCe 53 OLD WILTON RD. ¢ MILFORD, NH 03055

TELEPHONE: 603-673-2040 FAX: 603-673-1497 EMAIL: OVERHEAD@HENDRIX-WC.COM WEBSITE: HTTP:/WWW.HENDRIX-WC.COM
A MARMON WIRE & CABLE/BERKSHIRE HATHAWAY COMPANY



lcambray
Typewriter
ITEMS IN RED NOT SUPPLIED BY HENDRIX

lcambray
Typewriter

lcambray
Typewriter


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View5
	Drawing View6


